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Algebra 1 Chapter 3 Pre-Test

1.) (5 pts each, 10 pts total) (3-1) Graph each of the following inequalities.

a) x<-4
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b) 9 >y

2.) (5 pts each, 15 pts total) (3-2) Solve each inequality. Graph and check the solution.

a))f+12<5
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b) 8 <t+3

c) 7>9g-13
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3.) (5 pts each, 20 pts total) (3-3) Solve each inequality. Graph and check the solution.
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4.) (5 pts each, 20 pts total) (3-4) Solve each inequality. Graph and check the solution.

13t-8t>-45 '6>-'q

51 >-1S
S 5

b

_7

@ 2(5t - 25) + 5t < -80

[of - So + 5t £- 80 Lz-2

-%0 £ -8
ISt +SD ‘(’S_D
[5¢€ éio <4 ﬁ e
—ic (S &

c) 4p + 28 < 8
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5.) (6 pts each, 20 pts total) (3-5) Solve each inequality. Graph and check the solution.

a) 4d > 8 and 2d > -6
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6.) (5 pts each, 10 pts total) (3-6) Solve each inequality. Graph and check the solution.

a) |jl-22=>686

b) 5> |v+2 +3

7.) (5 pts each) (3-6) Solve the equation.

13c| - 45 = -18
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